5.1. Nonhomogeneous to homogeneous. Please study Lesson 6 in Farlow's **5.1.** Nonnomogeneous to homogeneous. Please study Lesson 6 in Farlow's textbook. Consider the following nonhomogeneous general problem for a function  $u: (0, L) \times (0, T) \to \mathbb{R}$   $u: (0, L) \times (0, T), \quad fleat equal to the term of term of the term of the term of te$ hard y transform  $a u(0,t) + b u_x(0,t) = g_1(t)$ for  $t \in (0,T)$ ,  $\mathfrak{L}_{\mathcal{P}}(L,t) + \beta_{\mathcal{P}}\iota_x(L,t) = g_2(t)$ for  $t \in (0,T)$ , Homogeneous: we know where  $u_0: [0, L] \to \mathbb{R}, g_1, g_2: (0, T) \to \mathbb{R}, \alpha_{1,2}, \beta_{1,2} \in \mathbb{R}$  are given data. Under the technical assumption  $L\alpha_1\alpha_2 + \alpha_1\beta_2 - \alpha_2\beta_1 \neq 0$ , discuss how to turn it into how Solve to an equivalent one with homogeneous boundary conditions (the boundary conditions - n(x,0) correspond to the last two equations). Varha,o, *Hint:* Consider the problem satisfied by  $U(x,t) = u(x,t) - A(t)(1-\frac{x}{L}) - B(t)\frac{x}{L}$ , where A, B are two functions (which you shall find) such that  $A(t)(1-\frac{x}{L}) + B(t)\frac{x}{L}$ satisfies the boundary conditions of the problem.  $\sigma_l$ D  $S(x,t) = A(t) \left(1 - \frac{x}{L}\right) + B(t) \frac{x}{L}$ B, Day P, an combination GINVEX , x + [n L]  $\left(1-\frac{x}{L}\right)$   $\sigma_{1}$  r + z

Thursday, October 28, 2021 8:47 AM

Last week small type 
$$T_{4}(E) = e^{-4\pi^{2}E}$$
  
instead of  $T_{4}(E) = e^{-16\pi^{2}E}$ 

constant Simpler case: ulo, t) = FC1 (a) u (2, A 6=00 We have SLt to n ( 👦 , 🔊) = hi  $\mu(L, b) = k_z$ Ala Watt ftu  $\pi$  steady state  $\pi$  ( $1/x, \infty$ ) =  $k_1(1-\frac{x}{L}) + k_2\frac{x}{L} = 3(E)$   $steady state \pi$  fluctuation independent of t (t - independent of t - inde UCX, 41 = teð t= 6 ula, to) ure, t1 - Steedly stut ux,tl L. back 60 hom Problem mapp ed

**5.1. Nonhomogeneous to homogeneous.** Please study Lesson 6 in Farlow's textbook. Consider the following nonhomogeneous general problem for a function  $u:(0,L)\times(0,T)\to\mathbb{R}$ 

$$\begin{cases} u_t = u_{xx} & \text{ in } (0, L) \times (0, T), \\ u(x, 0) = u_0(x) & \text{ for } x \in [0, L], \\ \alpha_1 u(0, t) + \beta_1 u_x(0, t) = g_1(t) \\ \alpha_2 u(L, t) + \beta_2 u_x(L, t) = g_2(t) & \text{ for } t \in (0, T), \end{cases}$$

where  $u_0: [0, L] \to \mathbb{R}, g_1, g_2: (0, T) \to \mathbb{R}, \alpha_{1,2}, \beta_{1,2} \in \mathbb{R}$  are given data.

Under the technical assumption  $L\alpha_1\alpha_2 + \alpha_1\beta_2 - \alpha_2\beta_1 \neq 0$ , discuss how to turn it into an equivalent one with homogeneous boundary conditions (the boundary conditions correspond to the last two equations).

Hint: Consider the problem satisfied by  $U(x,t) := u(x,t) - A(t)(t - \frac{x}{L}) - B(t)\frac{x}{L}$ , where A, B are two functions (which you shall find) such that  $A(t)(1 - \frac{x}{L}) + B(t)\frac{x}{L}$ satisfies the boundary conditions of the problem.

Black magic : ve still extropulate Knewly but we introduce two time depent tunctions A(t), B(t) that hopefully will satisfy the equations gilt 1, gilt in for the end. This gives Ŗ  $S(x, t) = A'(t)\left(1 - \frac{x}{L}\right) + D(t)\frac{x}{L}$ Ulaith= ulaith - Slaith will solve

5.1. Nonhomogeneous to homogeneous. Please study Lesson 6 in Farlow's textbook. Consider the following nonhomogeneous general problem for a function  $u:(0,L)\times(0,T)\to\mathbb{R}$ 

$$\begin{cases} u_t = u_{xx} & \text{ in } (0, L) \times (0, T), \\ u(x, 0) = u_0(x) & \text{ for } x \in [0, L], \\ \alpha_1 u(0, t) + \beta_1 u_x(0, t) = g_1(t) & \text{ for } t \in (0, T), \\ \alpha_2 u(L, t) + \beta_2 u_x(L, t) = g_2(t) & \text{ for } t \in (0, T), \end{cases}$$

where  $u_0: [0, L] \to \mathbb{R}, g_1, g_2: (0, T) \to \mathbb{R}, \alpha_{1,2}, \beta_{1,2} \in \mathbb{R}$  are given data.

Under the technical assumption  $\underline{L\alpha_1\alpha_2 + \alpha_1\beta_2 - \alpha_2\beta_1 \neq 0}$ , discuss how to turn it into an equivalent one with homogeneous boundary conditions (the boundary conditions correspond to the last two equations).

*Hint:* Consider the problem satisfied by  $U(x,t) := u(x,t) - A(t)(1-\frac{x}{L}) - B(t)\frac{x}{L}$ , where A, B are two functions (which you shall find) such that  $A(t)(1-\frac{x}{L}) + B(t)\frac{x}{L}$ satisfies the boundary conditions of the problem.

fies the boundary conditions of the problem.  

$$\begin{pmatrix} (\gamma_1 - \frac{\beta_1}{L}) & \frac{\beta_1}{L} \\ - \frac{\beta_2}{L} & q_2 + \frac{\beta_2}{L} \end{pmatrix} \begin{pmatrix} A(t) \\ B(t) \\ B(t) \end{pmatrix} = \begin{pmatrix} \beta_2 \\ q_2(t) \\ q_2(t) \end{pmatrix}$$

$$= \begin{pmatrix} \gamma_1 + \beta_2 \\ q_2(t) \\ q_2(t) \end{pmatrix}$$

$$= \begin{pmatrix} \gamma_1 + \beta_2 \\ q_2(t) \\ q_2(t) \end{pmatrix}$$

Aug

 $S(x,t) = (l - \hat{\tau}) A(t) + \frac{\lambda}{l} B(t)$ 

 $\int (0,t) = A(t) \quad \partial_x S(x,t) = \frac{B(t) - A(t)}{L}$   $\int (L,t) = B(t)$   $\int u(t) = B(t)$  $\int u(t) = B(t)$ 

(a, - B) A(t) + B, B(t) = 9,6)

$$Aet (M) = (x_1 - \frac{\beta_1}{L})[\alpha_2 + \frac{\beta_2}{L}] + \frac{\beta_1}{L} + \frac{\beta_2}{L} = \frac{1}{L} (L + \frac{\beta_2}{L} + \frac{\beta_2}{L}) + \frac{\beta_1}{L} + \frac{\beta_2}{L} = \frac{1}{L} (L + \frac{\beta_2}{L} + \frac{\beta_2}{L}) + \frac{\beta_1}{L} + \frac{\beta_2}{L} + \frac$$

 $\begin{aligned} \mathcal{U}_{k} \in \mathcal{U}_{k} = \begin{bmatrix} B(t) \end{bmatrix}^{-1} & M & Lq_{2}(t) \end{bmatrix} \xrightarrow{\mathcal{V}} \text{ these are given.} \\ The transient solutions & \mathcal{U}_{k}(x,t) = u(x,t) - S(x,t) & will satisfy \\ \partial_{\xi}\mathcal{U} &= \partial_{x,x}^{2}\mathcal{U} - \partial_{t}S & \mathcal{U}_{k}(x,t) = u(x,t) - S(x,t) & will satisfy \\ \partial_{\xi}\mathcal{U} &= \partial_{x,x}^{2}\mathcal{U} - \partial_{t}S & \mathcal{U}_{k}(x,t) = U(x,t) + S(x,t) & m \\ \partial_{\xi}(u+s) &= U(x,t) + S(x,t) & m \\ & \text{the Pole.} \end{aligned}$ 

$$U(x,o) = U_{o}(x) - S(x,o)$$

$$d_{1}U(o,t) + B, \partial_{x}(U(o,t) = 0$$

$$d_{p}U(L(t) + P_{2} \partial_{y}U(L(t) = 0)$$

$$E_{Xexe[sc_2,2]}$$

$$E_{\cdot,q}$$

$$U: [o_{i}] \times [o_{i} = ] \rightarrow \mathbb{N}$$

$$\int_{t_{i}}^{t_{i}} e_{i} = \partial_{i} = 0$$

$$\int_{t_{i}}^{t_{i}} e_{i} = \partial_{i} = 0$$

$$\int_{t_{i}}^{t_{i}} e_{i} = \partial_{i} = 0$$

$$\int_{t_{i}}^{t_{i}} e_{i} = 0$$

$$\int_{t_{i}$$